
qm
;+=

of]hgfsf] gfd :yfg /sd s}lkmot

1= u|fj]n tyf kSsL gfnL
lgdf0f{

sf]O{nfaf; 8fF8fufFp af6f] ;f]lnË 10,00000.—

2= ljh'nL la:tf/ cGt/vfn 4,00000.—
3= k|ltIffo ejg lgdf0f{ sf]O{nfaf; ;jbfx 3,00000.—
4= df]6/ af6f] lgdf0f{ sf]O{nfaf; b]lv va/L 8,00000.—
5= kSsL s'nf] dd{t va/L gfsf l;rfO{ 6,00000.—
6= af6f] 6«ofs lgdf0f{ sf]O{nfaf; 3+/f]n gfsf 9,00000.—
7= 6]+sL lgdf0f{ d'l;gfsf vfg]kfgL 4,50000.—
8 3+/f]gfsf l;rfO{ s'nf] dd{t 3+/f]gfsf l;rfO 150000.—
8= ;f]n/ kfj/ h9fg sf]O{af; ljkGg 3/w'/Lx?nfO{ 2,50000.—
9= af6f] sfnf]kq] sf]O{af; ahf/ If]q 10,00000.—
10= s6fg t6aGwg u'KtLu+h vf]nf 1,50000.—
11= kvf{n lgdf0f{ db|;f k|f=lj= 3,00000.—

hDdf 6300000.—

qm
;+=

of]hgfsf] gfd :yfg /sd s}lkmot

afnaflnsf tkm{ 4,05000.—
1 v]ns'b ;fdfu|L / ;:/jtL

dlGb/ lgdf0f{
>L pbo k|f=lj\ afnaflnsfx?sf] nflu 60,000.—

2 kmlg{r/ lgdf0f{ >L b'uf{ k|f=lj= va/L gfsf 90,000.—
3= v]ns'b tyf xflh/L hjfkm

k|ltof]lutf
j8fsf] ljBfno :tl/o ;+rfng
sfo{qmd

50,000.—

4= j8f Snj u7g tyf ;+rfng j8f :tl/o tyf ljBfno :tl/o 50,000.—
5= v]ns'b ;fdfu|L vl/b >L dx]Gb| cfwf/e't k|f lj= 55,000.—
6= v]ns'b ;fdfu|L vl/b >L db|;f k|f=lj= 50,000.—
7= cfjZos cf}ifwL tyf ;fdfu|L

vl/b
sf]O{nfaf; :jf:Yo rf}sL afn :jf:Yo
;Fu ;DaGwL

50,000.—

dlxnf nlIft sfo{qmdx? # k|ltzt *!)))
1= l;nfO{ s6fO{ tflnd 8fF8f dlxnfx?nfO{ 81000.—

cflbaf;L hghflt nlIft sfo{qmd # k|ltzt *!))).—
1= dlGb/ lgdf0f{ va/L gfsf 81,000.—

dw];L,d'l:nd lk58f ju{ nlIft sfo{qmd *!))).—
1= afv|f kfng sfo{qmd sf]O{nfaf; ahf/df dw];L,d'l:nd 81,000.—

j8f g+= *
s'n ah]6 ?= (),)),)))

k"jf{wf/ ?=6,300000 -70 k|ltzt _

k|j{4gfTds ?=@&))))).—



lk58f ju{x?nfO{
h]i7 gful/s nlIft sfo{qmd @ k|ltzt %$))).—

1= la/fdL a]8,;'u/ tyf lj=lk=
r]s hfFr d]l;g vl/b

sf]O{af; :jf:Yo rf}sL 54,000.—

o'jf tyf v]ns'b nlIft sfo{qmd @k|ltzt %$))).—
1= ;r]tgf sfo{qmd v]ns'b

;fdfu|L vl/b
o"jfx?nfO{ 54,000.—

blnt nlIft sfo{qmd @ k|ltzt %$,))).—
1= afv|f kfng sfo{qmd d'l;gfsf sf] blnt ;d'bfo 54,000.—

hDdf 8,10000.—

qm
;+=

of]hgfsf] gfd :yfg /sd s}

1= 6]+sL dd{t cGt/ vfn 50,000.—
2= kfgL 6]+sL dd{t 8fF8f ufFp 50,000.—
3= s'jfF dd{t tyf sf7 /vfO{ df; vf]nf 50,000.—
4= 3/ s6fg lgoGq0f kSsL vf]nf

lgdf0f{
kf;L 6f]n 90,000.—

5= l;9L tyf /]lnË lgdf0f{ g'/L dl:h[t 1,00000.—
6= 5t dd{t tyf /+u /f]ug dx]Gb| cfwf/e't k|f=lj= 3,70000.—
7= kDkL ;]6 vl/b l;;f}/f gfsf l;rfO{ 60,000.—
8= kfO{k vl/b tyf 6]+sL dd{t l;;f}/f gfsf 90,000.—
9= d]g lu|n u]6 lgdf0f{ tyf k+vf

vl/b
sf]O{nfaf; :jf:Yo rf}sL 50,000.—

10= ejg dd{t tyf /+u /f}ug sf]O{nfaf; l;df rf}sL 50,000.—
11= df]6/ lxn 6]+sL / k+vf vl/b sf]O{nfaf; z:q l;df ;'/Iff an 50,000.—
12= af6f] / l;9L lgdf0f{ sf]O{nfaf; ahf/ vf]nf emg]{ 1,50000.—
13= vfg] kfgL la:tf/ DoflrË kmG8 sfO{nfaf; ahf/ 40,0000.—
14= kvf{nf lgdf0f{ b'uf{ k|f=lj= 1,36000.—
15 /+u /f}ug sf]O{nfaf/ hfgs|L dlGb/,xg'dfg dlGb/

/ sfnL dlGb/
50,000.—

16= l;rfO{ la:tf/ / kfO{k vl/b sf]O{nfaf; lnst 30,000.—
17= k|f]T;fxg eQf dlxnf :jf:Yo :j+o ;]ljsf 54,000.—
18 d}lrË kmf0p8 rf}la; 306] k|;'tL ;]jfsf] nflu :jf:Yo

rf}sL
60000.—

hDdf 189000.—

qm=;+= of]hgfx?sf] gfd /sd s}lkmot
1= dx]Gb| cfwf/e't k|f=lj=/ >L db|;f k|f=lj= sDKo6'/ lzIff ;+rfng sDKo"6/

vl/b
2,00000.—

2= b'uf{ k|f=lj= va/Lgfsf / pbo k|f=lj= d'l;sfgfsf lkmN8 ;dDofpg] 2,00000.—

k|j{4gfTds k"jf{wf/ sfo{qmdx? !*()))).—

@= nlIft ju{ sfo{qmdx? M —
-s afnaflnsf nflIft au{ M—



qm=;+= of]hgfx?sf] gfd /sd s}lkmot
1= sf]O{nfaf; dlxnfx?nfO{ ;'wfl/Psf] r'nf] lgdf0f{ tflnd 2,00000.—
2= sf]O{nfaf; dlxnfx?nfO{ ;xsf/L ejg qmdut lgdf0f{ 2,00000.—

qm=;+= of]hgfx?sf] gfd /sd s}lkmot
1= e]6g/L tflnd !) hgfnfO{ 1,50000.—
2= a]df};dL t/jsf/L v]tL tflnd 1,00000.—

qm=;+= of]hgfx?sf] gfd /sd s}lkmot
1= afv|f kfng sfo{qmd 2,00000.—
2= df]6/ ;fO{sn dd{t tflnd 1,50000.—

qm=;+= of]hgfx?sf] gfd /sd s}lkmot
1= sf]O{nfaf; h]i7 gful/s lgz'Ns cfFvf r]s hfFr tyf cf}ifwL pkrf/ 2,00000.—

qm=;+=
j8f
g+=

of]hgfsf] gfd /sd -$)Ü_ /sd -^)Ü_
-!))Ü_

s}lkmot

1 1 agaf/L kSsL s'nf] lgdf)f{ 20000 30000 50000

2 1 a*x/fsf] l;rfO{ u]^ eNj 15000 22500 37500

3 3 9n lgsf;f /tgk'/ 20000 30000 50000

4 3 cfo"j]b cf}ifwfno uf]a/l8xf 20000 30000 50000

5 4 ;fd'lxs ejg 140000 210000 350000

6 4 ut aif{ ufl*Psf] 64
kf]ndf tf/ la:tf/ 87600 131400 219000

7 4 v*sk'/ dlxnf ejg 20000 30000 50000

8 4 a'^]gL df^f] lklnË 50000 75000 125000

9 5 ;fd'bflos ejg nlIft tkm{ 136000 204000 340000

10 5 r}gk'/ :s'n df6f] lkmlnË 60000 90000 150000

11 5 s'zd3f6 afFw lgdf0f{j 60000 90000 150000

12 5 kl;{of sNe{6 lgdf0f{ 50000 75000 125000

13 5 afFsL kf]n lj:tf/ 10000 15000 25000

14 6 @)&#÷)&$ ljw't lg/Gt/tf 80000 120000 200000

15 6 @)&#÷)&$ ljw't lg/Gt/tf 70000 105000 175000

16 6 sf]l6of dlGb/ rkL{, 9f]sf, /
df6f] lkmlnË 40000 60000 100000

17 7 dlxnf ejg 40000 60000 100000

18 7 ;]d/Ldf 2 yfg df]^/ vflb 50000 75000 125000

hDdf ? 968600 1452900 2421500

-v_ dlxnf nlIft sfo{qmdx? M—

-u_ cflbaf;L hghflt M—

-3_ dw];L d'l:nd lk58f au{

-ª_ h]i7 gfufl/s nlIft sfo{qmdx?

e'QmfgL ug{ afFsL of]hgfx?sf] ljj/0f


